0.2

x1073 0.2 x1073

0.15fF =3 A 0.15F et o
0.4F 3 Al U SRR S
0.05F =AML T 0.05f -5+ --f

RPN 118 R S W |

-H - b 99199

4 f o.5f-11-HH{ HH 31

—=— DQM_TT__mkFit-DQM_original
—— DQM_TT__mkFit-DQM_modified5
100 : : : : : 100 :
ORI Tf| SHN P N : F210] 1R R | || EERRRE PRRPRRS PRRPRRR PR
ORH{{ | |t} freeeeeieoe 60}t :
40|t 40 :
20BN HHHLLE - feeeeedeee e i g 208t 1114 3
u i 3 P ST i :
Ol H}*‘:"‘#"v"ﬁ*‘.‘*ﬁ** el Ok 1
20K [l oot ~20ft{ft 1
-40f : -40f;
-60ft : -60 :
-80f] i -80 ais
_100_||||| A _100_... ||!||||
: i
ot it . s
5 05k
035372 21 0 1 2 3 -3 2




	Contents
	Page 1


